1. o I™eA x 9 gh= Fstofzt

NV

Qe



e

age

4,CG=6,BF=y,AD+BC+CD =30 ¥ 4

ofzt.

ol - st= AMZFE ABCD °| A AE = x,

=i =



o 2" gel £ 3@ D
AD, BC 9] aAxAol wH
S P @ &z /DPC = N
30°, (DBC = 60° & uj,
(ACB ¢] 227]=?
30° 60°
P B C

@D 10° @ 20° @ 30° @ 40° G 50°



o2 "3 Zo] aABC 9 W Yol ADEF 9] ¢ Holtt,
(A =65° /C=70°< o, /DEF 9] 37]=9

A
)

)

D C

@D 65° @) 65.5° 3) 66° @ 67.5° 3B 68.5°



the 1olA B AB o] Zole 910] S#o] doje] - o)1 5 C

o

g]go]%iABg%%_HIH,AAPBEIEJI%xO]E}. x o gk

o2

o

@D 15° @ 30° 3 40° @ 45° ® 60°



